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Introduction to Economics
Unit 2, Lesson 6
Activity 1

Why Did Communism Collapse?

A communist economic system is one in which the state owns and controls the means of production and distribution. For much of the twentieth century, communism and socialism dominated economic thinking in many nations of the world. Among those nations was the Soviet Union, where the Soviet Communist Party controlled the government and the economy, and sought to expand its power to control other regions in the world as well. The United States and other nations opposed Soviet expansion during a period known as the Cold War. In the 1950s, it appeared that the Soviet Union might win the Cold War. Soviet Premier, Nikita Khrushchev stated in 1957, “We will bury you.” But the Soviet Union collapsed abruptly in 1991. What explains the demise of the Soviet Union?

In approaching this question, we will make use of the Guide to Economic Reasoning:

1. People choose.
2. People’s choices involve costs.

3. People respond to incentives in predictable ways.

4. People create economic systems that influence individual choices and incentives.

5. People gain when they trade voluntarily.

6. People’s choices have consequences that lie in the future.

With these principles in mind, and the reasons why communism collapsed, please answer the following questions below on the backside of this paper. [Do not try to answer these in the space between questions.]
A. For much of the twentieth century, close to one-third of the world’s population lived under communist rule in the Soviet Union, China, North Korea, Cuba, Vietnam, et al. One of the many features of these governments was the abolition of private ownership of property. Which of the principles of the Guide to Economic Reasoning was affected most by this policy?

B. In 1928, Soviet Premier Josef Stalin and members of the Politburo established a series of Five-Year Plans to set goals for what (and how many) goods should be produced for the USSR. Mao Zedong did the same in China in the 1960s. These plans also specified how goods were to be distributed within and outside the nation. Which of the principles above seem to be most directly affected by Stalin’s and Mao’s Five-Year Plans?
C. Which Western capitalist economist proposed broad governmental planning of the economy, however not to the extent that Stalin did (with the banning of private property)?

D. In contrast to the communist system, market economies rely upon the price structure for goods to determine how much and what is to be made, which reflects the value the good to the society and the cost of making that good. Consumers and producers both react to the price structure in their decisions to buy or produce that good, respectively. Ultimately, what economic concept (not listed above) determines how goods are distributed based on unlimited wants and limited resources?
E. Based upon what you know now about the communist economic system of the twentieth century, and what you know about the market capitalist system, what was the major problem that communism could not account for, which led to its demise by 1991?
******************************************************************************


                                                                                                                                                           Name:   KEY

                                                 
Period: _______

Introduction to Economics
Unit 2, Lesson 6
Activity 1

Why Did Communism Collapse?

With these principles in mind, and the reasons why communism collapsed, please answer the following questions below on the backside of this paper. [Do not try to answer in the space between questions.]

A. . . . One of the many features of these governments was the abolition of private ownership of property. Which of the principles of the Guide to Economic Reasoning was affected most by this policy?  Principle #4—People Create Economic Systems that influence individual choices and incentives. Communist regimes limited individual choices and incentives by outlawing private property.
B. . . . Which of the principles above seem to be most directly affected by Stalin’s and Mao’s Five-Year Plans? The main principle involved is again #4. The people of those countries chose their economic system, which in turn led to the creation of the Five-Year Plans. Also, Principles #1 (People choose), #3 (People Respond to Incentives), and #6 (People’s Choice Have Consequences That Lie in the Future) were also affected by the Five-Year Plans.
C. Which Western capitalist economist proposed broad governmental planning of the economy, however not to the extent that Stalin did (with the banning of private property)? John Maynard Keynes was the leading Western economist who believed that capitalist economies could also be planned somewhat by the government.
D. . . . Ultimately, what economic concept (not listed above) determines how goods are distributed based on unlimited wants and limited resources? Scarcity is the economic concept that drive the price structure to determine how limited resources get distributed because people have unlimited wants.
E. Based upon what you know now about the communist economic system of the twentieth century, and what you know about the market capitalist system, what was the major problem that communism could not account for, which led to its demise by 1991? Because of the central planning of communist regimes, what got produced was up to communist officials, and not what the people wanted. These officials set the prices for the produced goods, which did reflect the true value of those goods. So some goods were over-produced, while others were under-produced. Vast amounts of waste, environmental destruction, and creation of underground economies were some of the chief results.
